ASK MR MET BULLETIN #6

ASK MR MET MARCH 2004 CHECKING SPEEDOMETERS

Q. I have a 1957 Metropolitan. The speedometer is 10 to 15 miles faster than I am going. I had a newer motor and transmission put in and the mechanic said that would stop it but it hasn’t. What can I do?

A. The problem of inaccurate speedometers in the 55 to 57 Metropolitan is complex as there are two different transmissions and two different differential gear ratios used, and if they are mismatched it will affect the speedometer. It first needs to be determined if the problem is in the gear ratio of the speedo gear in the transmission, the differential gear ratio, or the speedo head. 

The first thing to remember is that in a car with a correctly working speedometer, the MPH at 60 will be about 3 miles fast, the actual speed being about 57 MPH. This is normal in almost all makes and years of cars. 

The next thing to remember is the difference between the speedometer and the odometer in the same unit, is that the speedometer works with magnets and can change calibration while the odometer is gear driven and will not change and can’t be out of adjustment. 

The place to start is always the easiest. Have someone with a brand X car with an accurate speedo follow you with the Met for ten miles and record the difference in the odometers over that distance. 

If the difference is ½ mile or less the problem is in the calibration of the speedo, and it will have to be sent to a speedo repair facility to be repaired and calibrated. 

If the difference in the odometers is over ½ mile the problem is in the transmission speedometer gear ratio or the differential gear ratio. If this is the problem with your car it will show more miles traveled than the brand X car. The differential gear ratio is the easiest to check. Jack up the rear of the car, and always use frame stands. Clean off the flat section on the top of the center section between the top bolt of the flange of the differential center section, and the next bolt on the passenger side, you will find two numbers either 9/41 or 9/38, these numbers are sometimes hard to find. If the numbers are 9/38 that is a 4.22 ratio and is the correct ratio for a late Met. If in your car the number is 9/41 the ratio is 4.55 and this would cause the problem of a fast speedo. You would need to install a 4.22 ratio to solve the problem. If you can’t find the numbers, there is a second way to determine the ratio. Lower the rear of the car so only one wheel is off the ground, put a chalk mark on the bottom of the sidewall of the tire that is in the air, and on a convenient spot on the drive shaft to be able to count the turns of the shaft. 

As you rotate the tire 2 turns count the revolutions of the drive shaft. 

If with 2 turns of the tire the shaft turns 4 1/2 times it is a 4/55, 

if the shaft turns 4 1/4 times it is a 4/22, 

and if the shaft turns a little less than 4 turns you have a 3.90. 

You may want to do this test several times for accuracy. Again if it has a 4.22 that is the correct ratio for a late model car. If the gear ratio in the differential is correct, you will next need to check the speedo driven gear in the transmission. This is done by removing the speedo gear housing from the transmission where the speedo cable goes in. Count the teeth on the gear, there should be 28. In the event all things mentioned above check out, but the problem persists, it is possible you may have to change the speedometer assm. to a late model as there are several different part numbers for different years. At this time we don’t know if there is different gearing in the different speedo heads.     

The Met Tech Team

